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[ 4. Find the prime  foedonizadon of 2240 UPING thng

diffenent wmethods .
Y

0, Divinioyy Method - °

z[_gélzéz 0

[620 1;;240 = 2725. 84
2[510 o
s[4S %

R

31

O) In_ee Diogrom *-

@
3
. 1240= 27531

(12403
Y em
@
7 @&

@) Myltrpliehm Method :-

1266 = 2X 620
= 2 X2X 310

.:. 1_&(_(0(2, .230 5¢<9j—
=2Xx2Xx2x155

= 2X2XAXEXS]




2. Fimd the ol foetonn _.o,f 1240 - -
= Colepledion of all footonns o

1246 = 1X 1240

= 2x§20
= 4 x310 - Al the foetons ojf 1246
- € X A5% 1,2,4, g 5, 10, 20 40,31, 6
= 5n 2% 126 943,155, 510, 620 1%
= joxl2Y
= 20X62 Totol = 16
—s4oxal
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a. Fipnd the ol p foaforw of 12¢0- |

= Prz{ync foatonn of 12¢06 one ¥ 2,5 81 - |

(1. P]Y?cl The ol Q@mpmﬁ-@c_ &OQ%M o<¥ 126¢06
‘-=> Tl'\e CD’YVLPO'E';%C 406{0\113 O'F _LZC(O) one °- 4( Q

1o
, 20,40, 62,124, 2648, 155, 31l0, (20 (240




